@
g% %Tf

D (-80,2), (2, 0)
R.- ("'@04 0), (0,%9)

Dt (-00,~8), (=4, %), (4, 20)
2. R

D ("901 23,02, DO>
R (oo 5>) L5 %)



1. Evaluate the following function for f(—2), f(—3) and f(—0.7).

f(-2y=-3 (-2,-3)

f3)=-u (-3,
foH) =0 (-0.%0)

2. Given f(x) = —2x% — 3x + 4, find f(—1), f(3a) and f(a — b).

= FE1D = ~2(~DT-3C0 £
fi-1 = = —2(1)+ 3 rd
= = L BEY
fGa = APa*-qar = P

£(2a) = -2(32)%*-3(2a) ++
= =g(qat] -9 #y
f(a—b)=*9~0tl*'—\a)o—%\o‘-%.2 = —1%a*-qa +4

13 +y
3. Evaluate the following expression forx = =1 andy = —3: 7
2-
-y-1 o (-=(-2)-1-1)

2y%2

221"

= 1 =9(-2)_ |48

—

""b —b

£(0-0)=-2(a-0)*-2(g-b) +4
= 2 (a-bXa-o) - Bat 30 ki
= -2 (a?-2alo £o*) -3+ 3p +H

= - 22attdalo-2p* -2 ¥ tH



Gf”\ Functions Quiz
~ Integrated IIT Academic

For problems 1-6,

Key
0

Pd:

a) Determine if the relation is a function. Ifiit is, label it as one-to-one or many-to-one:

b) Find the domain and range.
L {(-3,4),(-5.4).(-1.4).(2.4).(6.4)}
p=3"%3-),2, b
SRLL

Type of function? Y\ T O

4320

b= i"%f;\f)
_/f R= ("w.« -—-2‘]/]
- Type of function? Emﬁmﬁ, ) SO

105 5 0 5 10

b= (di?/? ?‘\’ (l‘%)'

R= &v’\'}vﬂ

N Type of function? YYYTO

Type of function? N0 @ f(:’\,U{\/(/h oVt
| — Avepeads

4, y=3x*+4x-2

D= (-%0,0)

r- (=33 09)

Type of function? QUL ANANC YTTD

5 10

Type of function? Y\ TO



DOMAIN: all possible x values

RANGE all possible y values

+——1— O s 541*1‘1:;/7751‘\\ <

D (’3,00) i
YR ,e0) b (09,59
_ R Y‘Z °°> b;(—DOﬁO)
“ .. o (0, 50)
ﬂ\j{
D L’Lk)oo)
R ("N)f\/&

hmu

)

=

, a) y=x-—3 Domain: @'00105) €) Y* ' Domam(C’:%O;ﬁ—Z—wa)ﬁ 2+ 0
@ 0o, O

e Range (-00,00) @ Runge XF2

‘ 2,50
b) ;3: x?- 4 //»Domam (;Mﬂ(;f&‘,_ f) y)’X +6 Domaln ‘LM
Sy R (=00,50) QuadyaiRenes Lloyo0)
=i L5194 #0 +g
Eaxnsno (Y- %+2)Z° e

X _Domain: L=0,59) g) Y :‘@'F 4 Domain: LQFO@'

Yy 20O J/ Range: _{ -'“O,Q_! 20 Range: o9
ray o M bW
d) y= Va9 - %’ Domain; T’qﬁ-’? E
) ’ —_ s
Hﬂ—x7~>5\ané’e' —J::Q)j%—— P
z'f VA \ VK
- N Z g 4 m)ij
wreuq AT
s VA



Algebra 2 Honors

Chapter 1B: Domain and Range Extra Practice

1 f(0) = 2x+3 JNOCAN
Domain: ("’DC,OO)
Range: (" 39, DO)

2,969 =22 +1 QUIIV XU

Domain:(_'w,w)

Range: [\ )00)

3. f00) =5¢2+2x -1 Quadyain o

Domain: (’00100)
Range: l-*\ VA OO) (US'(JW\W\; ! WQ’)

4 g(x):xil %WO
Domain:(—oa, "‘3,('{,;0) X#—._‘

Range: ("00) 0) («O)ao)

5. (%)= :jS eadhena
, XYG F0
Domain:(}oq—‘&l(fﬁ‘ea) Y#F-0

Range: (——00‘ 2 )(3 ,DO)

6. f(x) =§+x—i3 WG\(\U

Domain: ¥¢O y X:rL ‘-A
"o ~X) (+24,0) ((0y60)
ange.(‘w) 7)

7. /& =—+3 Mos Ny
Domain:(,.oo\‘t-\cr)
Range: (.. 09, O]

8 f(n=+vx—3 2Adied
Domain: EZ,M)
Range: [O.DO)

0. g(x) =—x* QuLadxiiic

Domain: (’00,"0)
Range: (’ 60 01

10. g =x"-7 Cuoi0
Domain: ("W\OO)

Range: (’Dd \ OO)

11. g(x) =5-x+1 Radkah

Domain: ‘:\ ‘°<7§
Range: ("00 ,"0’1

12. g(x) = x25_x49 WW
Domain: xl_%q 4:0
20 NP (XXt 0

Range:
(#,09) + -1
oo NEX




